m SKID PLATE INSTALLATION MANUAL

For: Kawasaki Mule PRO DX (2016-)

2444.6921:1

FO 2O =




EN Regular fasteners
DE Originale montageteile

EN Regular fasteners
DE Originale montageteile

EN Screw a several turns
DE Fir wenigen Umdrehungen befestigen

EN Loosen bolts
DE Bolzen lockern

EN Movement Arrow
DE Bewegungsrichtung

EN Location/Position Arrow
DE Amordrung/Positionsrichtung

EN Screw Arrow
DE Drehungsrichtung



»nn
"
uh

EN Ratchet S-10: HEX
DE Ratsche 5-13

< EN Office Knife
% DE Biiromesser
&)

X6

M6x35 x10 | M8x16 x16 | M8x25 x8 | M8x25 x2 |26 x16 | @8 x8







S B2
—— [T
!

I /KA\&\




LEFT = RIGHT

=

'1

R&GHT

LEFT




-
7;11

I

RIGHT

LEFT = RIGHT ||

LEFT =




LEFT = RIGHT

, S /
- /
LEFT = RIGHT







